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Program sample;
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Write In(i); n
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Input buffering

/ » Sometimes lexical analyzer needs to look ahead
some symbols to decide about the token to return

> In C language: we need to look after -, = or < to decide
what token to return

> In Fortran: DO51=1.25

» We need to introduce a two buffer scheme to
handle large look-aheads safely
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(input Buffering)csg,g 8L o 553!
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/ if forward at the end of first half then
Begin
Reload second half
forward:=forward+1
End;
Else if forward at the endof second half then
Begin
Reload first half
move forward to Beginning of first half
End;
Else forward:= forward+1;
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Sentinels(C Code)

A\

Switch (*forward++) {
case eof:
if (forward is at end of first buffer) {
reload second buffer;
forward = beginning of second buffer;
}
else if {forward is at end of second buffer) {
reload first buffer;\
forward = beginning of first buffer;
}
else /* eof within a buffer marks the end of input */
terminate lexical analysis;
break;
cases for the other characters;
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Sentinels(Pascal Code)

/forward:: forward+1;

If forwardf=eof then
Begin
if forward at the endof first half then
Begin
Reload second half
forward:= forward+1;
End;
Else if forward at the endof second half then
Begin
Reload first half
forward:= forward+1;
End;
Else

4
)

Terminate lexical Analyzer;
End; Zau-93-94-2
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» Transition diagram for relop
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TOKEN getRelop()
{
TOKEN retToken = new (RELOP)
while (1) { /* repeat character processing until a
return or failure occurs
switch(state) {

case 0: c= nextchar();

*/
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class Scanner {
InputStream _in;
char _la; // The lookahead character
char[] _window; // lexeme window
Token nextToken() {
startLexeme(); // reset window at start
while(true) {
switch(_state) {
case 0: {
_la = getChar();
if (_la=="<) _state = 1;
elseif (_la=="'=") _state = 5;
elseif (_la==">") _state = 6;
else failure(state);
Ybreak;
case 6: {
_la = getChar();
if (la=='=")_state=7;
else _state = 8;
}break;
} B
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case 7:{
return new Token(GEQUAL);
Ybreak;

case 8: {
pushBack(_la);
return new Token(GREATER);

}
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